K 700 ST/ET

Vers. 05796 |



38 {1.105.302 2 | F-5|Rondella 5x10 Washer 5x10 Scheibe 5x10 Rondelle 5x10

39 {2.160.060 1 | F-3|Flap laterale sinistro TKSOO/TK700 |Left side fap TK S60/TK700 Linksseitenklappe TE.S00/TK700  |Flap latéral gauche TK500/TK700
40 [1.105.122 8 |C-4|DadoM 5 Nut M 5 Mutter M 5 Ecrou M 5

41 [2.180.009 1 | C-4|Scheda comando 12V 12V motor blocking driving 12V Commandzettel blok. motor Fiche de command blog. moteur 12V
42 [1.180.009 1 |E-5}Batterin 12V 100AR Battery, 12V 100 A Batterie 12V 100 A Batterie 12V 100 A

43 12.190.013 1 [ E-3|Staffa fissaggio carter Casing-fixing bracket Gehiusehatungsbagel Etrier de fixation carter

44 |1.105.233 1 D-3}Vvite TBCE 6x25 Screw 6x25 Schraube 6x235 Vis 6x25

45 11.105.303 1 |D-3|Rondella 6x12 Washer 6x12 Scheibe 6x12 Rondcfle 6x12

46 [1.380.1000 1 A-4|Contaore digitaic Hourmeter LCD Stundzihler LCD Compte-heures LCD

47 11,380.050 1 B-5!Pulsante unipolare Unipolar button Dritckknopf Bouton

48 [1.180.008 1 | C-4{Cavo amesto motrore HONDA Stop button's cablc Haltungsdrucknopfskabel Cible bouton arrét

49 |1.320.062 1 |E-2{Galletto @30 ME&x20 Butterfly screw 030 M 8x20 Flogelmutter @30 M8x20 Ecrou & oreilles @30 M8x20

50 |1.125.011 1 | €-1|Acceleratore Accelerator Beschleuniger Accelerateur

748

ot
e
o]
g
Lo
L
[




LO'sIBn)

e a0/
w13(d1oa 23uBI0 ] PuSpusH B{OA a|puz]] pEws) waldmo) wEnep] |-y| g 160°0LE°Z] ST
SUD (0L AL 2Jptle seg 00L 241 193]BY2q OSI9JUIL] NRIL DOL ML tomwip Youq Amip|  013un ooy, ML Houased opessed| G- [ AN AXAR A
|TX9W 6X0Z P4 BTXOW 6X0T gnd RIXOW 6X0Z 100 STX9W 6X0Z oWIpid1g-31 ¢ £00°0287L) £C
S noay 9 W unpy SN awoped|Z-3| € £ZLS0L°L] €2
B 91¥3 SIA G1Xg dqneIds 91%§ Mo1dg IXg DAL MAB-A] T 6£2°501°4] 12
sy QL A1, [eIucyy 1PUR) 004 M1 2sngyeBjnor] nein 00L ML Bursed 1ol Avln 01dugy QL 1 ool )| | -3 i LzLozLe| oz
SUG) (0L L 21063 [Rzie] Jae) 00L 311 asneyafuapiassyur el 00 31 Buises apts YrjAeiD OI5uD DOLAL XS o[BI D g-4 ] | 551°0Z1°C) 6}
SUD Q0L 211 Holp [eIdie] I3E) 00£ 341 osnpyaduajiossyasy new Q0L M1 Buisea apis a1y Ar1n aifun gOLH 1 X e[elae] Joued| -3 [ ZsoZlz| 8l
01%3 SIA %8 sqneigag 0 1%y maloy 018 IDALMA|-Q| 8 0EZ'S0LTL) LE
1004 "Tvd 9 004 AL uayey 100L 7TV 3 004 A uawysy LOOL "IV 3 00L AL 2wel] [00L TV T 00L AL @®RL|IE-3 i 180°0LZ°Z] 91
100L TVE § 004 714 usuwgey 100L 'TVH S (0L AL uaugey 1COL°1VY § 00L AL swel] 1004 TV S 00L ML ompRlig-d 2 160°0L2°¢C
G1XEY SIA 61X€'0 aqruIyag GIXE") 20808 GIXED L snEiapgome Al L-g 1 9 19€°5041°L| S
QXY SIA G1Xg sqnurysy G134y maloy SIXoIOILMA|E-D] 8 9ee’s0l’}| ¥l
SDIOJUAD JUIG] Fumyop Pyornsiop 12§5td pansoJuioy omere oy auotzrtienn) |- | aw §°L S¥O'DZEL| €}
TXPIXG Afpucy] DUpTAG 2GIYg THETRY J2YSeM Txr7xg EfPPUCYl -] 9 §Ze'S0L°L| T
app|duwico sguding JUdpuvH 1s]jop £81 71 9jpury] owjdwor wdwe) eBiveig-gql 1 LwZole'e) v
2513 opuBiod s3jqEO-0IANOY I91IR] | SSNRYAD) [MIUBqRSPUIpUBH neis) sfpie] a1 Joj quisea ojqea Aa1n) 013110 CUUBW BINSOIYD JoUE]) | Z=7) L gtz 0Z1°Z| al
L1Xg 2[[Ppucy LTXB 312135 L1Xg 13YysEp, LTxg Plspuoy e~y T $0E'S0L°}] 6
00L ML w1uean sag| 00 L I0[eYaqTINWYHE 19ploa 10y Q0L L Iamaep ol pay 0550y (0L L 310Ua1us 011ass80f L-g A 6L i’0ZL’e
00L 21 m]q ueAB 3Rg]| (OLILL 190PYZINMYIS Japlop avlg 00L AL 1mEIp JuOl) Ny 0]g QoL M, stotaius onssseg | | -5 L gez0Zl’e] §
00L M1 FY2UE[G JUBAR 220 (LY ], 12 IY2qANWMYIG JDpIop SSIOp 004 AL 198elp Ju0z] aligAn odurly] Q7 A1 2iousius opasse)| -8 i ZeL'ozL'¢
5 004311 2imyBULIa) 3p I9HBY S 00LAL 2snguaadunganyoy § 00/ 3. Jwises Fupjoo] S 00LAL BINENID Joue T (F-f 3 gLLOZLE| L
+T/bT B Ysnowa ua wopind-auanc)| /b7 @ FunyospiuundsaSuelsyusy YT/FT (@ 19409 o|puey Jogqqny FE/b7e viou swwod ul eodouey (-0 F orQg o002l 9
WA § O0L ), ssudiog HaD{RE] § ()L AL 23uBisiua] paimed g 0o/ 4), dudpuey oswlan aiddoog 3] oatwe|g-0) 14 LOZ°00C'2
s J 00L M1 *2usiod uanios] 00 W1 28uEsyu] parsred 3 00£ W1 duFpury OJFENLSA O2UNATY ] 0NUBR | E-T) } 002°002°¢C| S
8inuag Y] Bungoiog WAL Funyool WYL mapdwoly WAL wimeuss| -y § MLLO0EZ| ¥
8§ W 10193 8 A 2900y % W §IN cimqaeut opeg| -9 ¢ L0Z°S0V'E| €
SIX8 W (@ nuatiiog SIHgW OF ¢ uagdowy C1X8W O 3 quu’y CIXOW or @ ounuejoa - Z 0e0°02¢°L| £
15 0L Y1 28noy 1ouadng jode) LS Q0L ML PARPI0 10y 15 002 N1 oaoa aaddpy payf|  ossoy 1§ 0oL adeUadns ouvjeDe-yf i 0ZL'0ZLe
1§ 002 1. 2yaueg] 1ouadng jodury LS 004 M. 1342109 sstap 15 004 M1 19400 soddpy | ooweig] 1S 002y, »ouadns ougjoy |-y | L 5610712
13 0o¢ A1 nojy ineusdng oden 13 00L N1 19422piag(y nelg 179 00L ). Soaoa 1addfy onjy npg 1 00LM, otiadns vuejon | g-y I vezoziel 1L
13 00L W1 2ysur|g Jouadng joder) L3 Q0L AL 1PHI2pI2Q0) SS9, 13 00z WL saa0 1addpy suym | oauest 17 opgslL ouadus cunjan|g-y 3 9ch 0zL2
14 004 AL 33noy Jouadng 1odey 13 004 ML 1PH9pIaqo 103 17004 M1 19400 20ddry pag| ossey 17 0L Mouadns ourjod|g-yf| L 9LL0ZLe




coD.

6.900.7501 |

LSP.

TAVCOLA 2 TK 700E-C

(ORI AlE]

DATA:

07 86




LaU L e Y

ZABL 1S- 1300231
25501 2IGIE um_cuubc.m_ &uﬁmvaﬁmmuam»:uamnumum_ __eusysmuq 1908dg] n__q.ﬁ.n.m__“_m alag)e w?ﬂﬂm_ﬂ_ﬂrm | ¢ £00'0ELE l m
SIXEXS 71D i SIXSXS 194} SIXSXKS Ao Sfuge misiEs -Gt _ ::..ma_..: gt |
005 311 95501 21qIy 005 3L S[PPasuosaq[entay] 00S JLL Y=ys ysug opeau0 ejozzeds oiqy 40| | innnL7] bP |
008 ML 9Nt sssalg] _ 0% 1 USIEINqUaNTA} STLO SU1U3D (1T V1 aenueo sozzedg|e-Q| ) 0£0'0SE'¢C| ££
S nooy _ SN 12NN S N SN OoPECIE-D] 9 ZZL'S0L°Y 28
OLXS SIA 0LXg aqrenyog] _ 0LX5 MG _ 0L*¢HOOLMA|E-D| 9 1S5°50L° L] LE
0ZX9 SIA 07X 2qnelag  QTxg malag 07X9 YDSL 25?.5 8 | eogs0L}] OF
Trerenid peeddis 10 BiuY SHL B Y , : v 2 190°'08Z°L| 62
OPXET BIA OEXT] 2qneRpg g4 Z FEOG0LL 87
o 14 Juenboji noIny G} 13UME Jaoyg £-0 9 ceLgnll N.Nl.
T 0L L nagE) gy E 0L AL roil 620°041Z| 92
T magng g apjinog asumngegeyddiy G ERoy 01 2 Lyolt’z mN
Inangns anod volno: p FERGISTI{E R d cwingie-n | 100 neREZ vE
AN SIOLN0D op Inspuel douny ML Pdnguurdsusunny q Ml a1 epell W..Mu L FLigaste: £L )
§3 L 9105 9p Insplag 13107 [FE USRIy W) ST VEIFSIG-T L LEOT D6 wum e
ey FUNISPUEISGY 1yedy &1 ! Lagael e 24 ’
TT € BWiBl 331w p andug] 7T {3 Jadansnouy] Ao dius o REERIN [ s A Losrsob ] Le
ST §OD RS SUT 809 w08 § oo Bulreg S ghy vusd G-} Z SOO06L°E| 02 .
1Y 21043003 29 IN2PUI] NENOY (] C1H [ Jous ape G-(1 i LOOOGE S 6L B
sonae 3p pis] 9denbojg ap 1Al sfjorsundsonuary) wossIUnFSeog ol 12U b u.,t HE Wb YR ERISER-HEY -y} 4 (R M AFA R4
WY GOLRD OSSN 1 JpajEny s noRDRi L -1 b qoasnzZ’T L
FTOILNND DD INSPUI] Ffnor] wsysnqsseIunedsuaerny 'q §RA3] JEATN IR PIEUDINIG; FAR] B[00 IG-1) b gZooLl'zZi ot
STHE BIA CTXE HuTIOY LTXY MY GOy DML WA D] ¥ gLe501°1: G
¢ W wsnbojg noiryg S VA IS0 N0l 2 1A L B0 Qi MuTy G- N veicsol il F
L1%g afjapuoy L%y >qIsieg FRES: Bl EF L1 50 g ) vpe'gal’l: €
20 PFENT) 514 13eaey ADIDS AU 23R st 268 P LT G0y £ snoass el 2t
gxg jodig gxg pmagl T G-TY z mmv.mmr,w [ I
TonsE AqE Jrqe U AT suonEn aaEn{g- O L D ZOETEE .
UONOES 5{ED 2UIBD} as|gyleqesgatny IRAE 18D 5%& LOIZEI} DARD BUIRLG) msmu i FA K1 7.4 WA
235010 UonR{ndal op self ULBSHRR]| 215 UUSs 00 i Funnlpy gsusgg R[OZZE0S BUOTIRIOER 00RI (] w SE00LLZ
aU1RE 21pLIE 5P 2nbOlg] oepsiun;|auosinl ] waong sunddos greoyg auwnE vular OReyIo -y L LT AN A
TEXG Flapuoy TEXG 21 10% FARPRL : €0l 8 £0T°50L°L
HIXQ SIA §IXG sqnesgag Rg Moy | £ Zat'solb'l
o[RIFiB] ASKOK] pUAWOD 9 I8 |FOYIDRASSUISEqUIYY 10A5] TALIDY URTUIOIPEY BoioR: NGy w; COOGZLE L
£ (3 uina) 3EriHol ap suEg £ 01 pEas noIpmn raa AN S 6Lz GAQLE
AR 11} A gk ML 1 cELNLEE
S| 300 U rel 1| LT




el Ho
01%9 sIp 01%g 2qnEIgog 01%g Manag S omxoydaLamalp-3| ¢ 091°501° 4| 94
SIX0E P 2linod ¢1X0E @ 399YI8 S IX0E @ Aolind sixofpnadndiz-a; | 080°052°Z[ 5
a[RIpIe] 35501 uasaquaylag Hsniq aprg s[elae] ejozzeds) -3 1 gzo'oscz 2
2[RiFIE] 95501 JUIWIUTED IG5 UISIQUISG YISURPUIRLYADITY afuey Juiddeip ysniq apig| Iaie} ejozzeds ojusureurases) eidusl| j-3 1 teo'ost’Z| €4
aTeIp18] 9ss01q Hoddng Idgnuasaquanag poddns gsmuq apig a[esale] Bozzeds opoddngiz-(] } 200922 22
PTAE [opucy $T¥g 3qlayog UTNE ISUSEA FOg eNepuod (Z-Q| g2e'S0LL) W
0L6 X § F10LN0) 0L6 X § uawRry 0LE X 8 O Yo 0L6 a$3p wuduD(Z-Al| ) 600°0£E'L| 02
STXLT @ 91nod STXLT B oqlayag SIXLT B A3(Ind I STHLT owiEsod [Z-A| | 6.0'052°2| 69
sy Fouspuesqy 1250dg 914 0t @ oEuEs|Z-J) € T¥0°0LL'T) 89
Z1 W wsnboiq nosoy C1 W auni yaolg T1 N NG Yool TIW swedoiq ope(llg-3| € 9gL’soL’ L} 49
§7 (3 WX JollEp anSeg €7 @ Jodresiassny ¢7 @ Buut deus 1nQ 5z @ owzss 18xg|-ql ) gly's0l L} 99
2||0] 951uap andeg Fuuuyezrsr] BUU pa100] 3] a][o] ojewsp ojauy | L= | 0Z0'001°2! 59
54T $009 121ed SUT 5009 1a8efja8ny ST §009 Fuumeg $AL soogoneusn)|1-07 Z10°06€°1] ¥9
s1aped-ouod sjpnoq 153gnIogE|apaN s o0y sfuueaq Jop Aungsng HauIssnRIELOd Bjoaded |1~ 1 NZLOOLL'Z| £9
Vos59] syaelle mnod solnon Burjueioatopa,] waydeyZ| . urd Furxy Fuudg Bljolu oloueETR oW ]| $- 4 ) te0°0eZ’Z| 29
ML JuAUIIATOW FIUIP NEIULY m:.E.Ed.N SUISaqUIITST A1 Buu payjoo) aowt ystuqg opig W} |1018) "Zeds cuswacw ojBjuap ofjsUY | |- b N6LO0OEL'Z| L9
wCE/11 B3|nogy wZE/11 U3y «LE/11 5 WLET2EL-d] 9 620°092°L| 09
9[e1718| 55501q Io17ed andug FuiaBejuaspug 2ysIpIeg duueaq ysrueq opis ayy Jof Sutyl  sjuiere| ejozzeds opoussmo olpuy i L-g L ZLo001°¢| 6%
CEXg 2lapucy TEXg =qlayag TEXE 12USEM rexg eepuod{L-gy |} 12€°501° L] 8BS
Pfeize] 25500 WITUA[NOS Jaaa] eqaysaqayumsIng Jyfleyg 1oa9] Fungy ystug apg|  owIole| vjozzeds OlUSMIBA[IOS BAX[Z-¢] L 000612 IS
TN TIA TTXY oqueryogy TTXg Ma135 g IodLAlLl-al | LET'SOE'L] 9S
Loy vl L) Qwwaly L@ dwz) L @onsswopN|Z-g) |} ¥00'SZEE| GS
Ex L1 uolnany PEXLT Usz|og PEXLT W vEY HD oWl | Z-g) L 200°0EZ’Z| ¥S
uonisod u2 a[eIpIB| 25501G-2A9] 2|qBD] SSRWIYOBU YIINIAS [2qENIqIYUSIDY 3|qea Juiypn ysruq apig o[eaae| elozzedsez]e oaed) | Z-H l Loo'sZi’e| £S5
9[EIa)8] 95501 JUmen FS[QYsussaqualiag Funpesys ysniq apig sjelaie] ejozzeds vurenD | g-g b FA A A REA
PIXG 2]2pucy YTXG 3qlayag PIX9 JOUSEM, rexo Efrpuedl -d| ¢ SZE'S0L')| S
01 W Juenbolq noiog 01 W Jonnw 3201g 0T W 1nu §30[g 01 W aweooiq ope(J|G-4 1 | SEL'S0L°L| 05
sefi08 7 g anog 3qrayassureqs3unLIyn -z Asjind saoul 7 o8 z madnd(Z-Qf | 690°05§2°¢| 6%
S no1og W Iuniy 8 10N s oped|Z-g]| @ ¥Z1650L°L| 8%
S[e1a]8] 2550I( 21qI¥ ISI02IUT 2[[amlasaquatias J Yo01spUeIsqy 1aoeds yeys ysniq apig|  sqwIale} ejozzeds olaqje aferzUEISIT| |- [ LLOOEL'Z] LY
OEXE S1IA 01%g 2qnelyoy QX8 maidg 0ixg 3DALAZ-A] € oLesob’L 9
T10) JAH Joneg Z101 JH 1o8eqa8n3 101 3H Buueag 7101 HH ousuosny|Z-q) £10°06¢°¢| SP
T8131¥] SU3q Jnod anna) S[[apucy aquz1257]1] 23wdne usyag Joysem J|9) s,uum apig] ajmoe) owonaq 1ad onfsy we|ppuey |- 2 100's01°C| vt
SINJIAY[ND VOSIET| Ip JOUTH [280q58unpuiqlaau)aqayfumyoag 19%90Iq BUjUL 532420 Lasun|lq ojusweds)jos vuS| G- Z vLoosl¢} EY
95501q 330[331 uo[non) "qRALSE Uazjoq[|2)suLy 1oamd Bunxy Sunsnlpr ysnug| ejozzeds suoirejodss o138essy owinglg-gq| ¢ gz0'0e2’e] Z¥
71 {3 SWIIIX? 19008 p andeg 71 B 1e8aasiossny Z1 @ Juu deus sang 71 D ows? 19E»gig-g 4 ozy'sol’L! Ly
§ [ ) PW9IX2 ypua p andeg ¢1 O 12339519550y 51 @ 3un duus 1mng $1 @ owmsa w3RS|Z-q| € sabv'scl’y| OF
SAT £009 Ned SUT €009 19TeNBN] SUZ €009 Zuirwag SYT €009 onsusny 3| € 8LO'DGE’ L] 6E
(8 s291jed Inod poddng oBujnesiale||2¥ny 08 @ poddns Juumag 0RO 08 O oneudsno opoddnglg-g| g 9v0°097°2| 8¢
§X9 J0813 - $%g u2jdrz g, 190 sxyouniny-3| g Z8¥'Soby| IE

\

e




77 12.130.005 2 | E-3|Distanziale Spacer Abstandstick Entretoise

78 [1.330.017 1 | C-2{Cinghia SPZ 737 SPZ 737 Belt Riemen SPZ 737 Courroiz SPZ 737

79 |2.200.031 1 | C-5|Maniglia regolazione spazzola centr. |Main brush adjustment handle Z. Basen einstellungshandgriff Poignée réglage brosse centrale
80 [1.110.020 1 | C-5|Ghiera zigrinata @ 20 M12 Knurled ring nut, @ 20 M12 Randelnutmutter @ 20 M 12 Bague moletée @ 20 M 12

31 12.110.032 1 | D-4|Blocchetto regolazione spazzola centr [Main brush adjustment block Z. Bascn cinstellungsblock Bloque réglnge brosse centrale
82 12.130.010 1 {C-2|Distanzinlc @ 12h 7 Spacer @ 12h 7 Abstandstdck @ 12 h 7 Entretoise @ 12 h 7

83 |2.250.077 1 C-2|Rullo tendicinghia Belt tightener roll Riemenspannralle Rouleau tendeur de courroie
g4 12.190.017 1 C-2|Staffa regolazione spazrola centrule  |Centre brush adjustment brucket Finstelibogel Mittenbirste Etricr réglage brosse centrale
85 |2.205.015 1 D-2iMolla trazione Traction Spring Zugfeder Ressart traction

86 (1.105.230 1 D-2{Vite TBCE 8x10 Screw 8x10 Schraube 8x10 Vis 8x10

87 |1.105.234 1 C-21Vite TBCE 6x10 Screw 6x10 Schraube 6x10 Vis 6x10

88 [1.105.306 4 C-3{Rondella 12x24 Washer 12x24 Scheibe 12x24 Rondelle 12x24

89 12.290.008 2 |C-3{Pemo Pin Bolzen Goujon

90 [1.105.305 4 | C-3|Rondella 10x21 Washer 10x21 Scheibe 10x21 Rondetle 10x21

91 |2.250.078 1 {GC-1|Puleggia Pulley Scheibe Poulie

92 |1.390.015 1 C-1|Cuscinetto 11K 1412 Beanng HK 1412 Kugellager HK 1412 Palier HK 1412

» .
D‘“ 700







B-3

1.105.242 L] Vite TBCE 5x20 Screw 220 Schraube 5x20 {Vis 5x20
2 |1.105.122 1 |B-3{Dado M5 Nut M5 Mutter M5 {Ecrous MS
"3 [2.250.031 .u_..... 1D-2 Puleggia trazione su riduttore _ Reduction pear truction pulley _Ooﬁnamauﬁoamn:omg _ﬁon_mn traction sur reducteut
4 11.105.133 12 {E-4|Dado bloccante M 6 Locknut M 6 _mn_vmsvona:zﬂ ME |Ecrou autobloguant M 6
5 [2.205.013 1 [B-3[Molla per coclea Spring for air-conveyer Schneckesfeder IVis pour canalisateur d'ait
Hlm 4.260.051 1 [B-3|sfera05 Ralls @ 5 Kugeln @ 5 IBilles @ 5
7 [1.405.324 | 52 |E-4/|Rondella 6x18 Washer 6x18 Scheibe 6x18 Rondellc 6x18
"3 11105162 | 8 |E-5|Vitc TEFR 6x16 Screw 6x16 | Scheaube 6x16 Vis 6x16
5 (2.195.003 4]. B-1 |Coperchic rdutiore jKeduction gear cover Getriebendeckel Couvercle reducteur
10 |2.195.004 4! C-3|Corpo riduttore Reduction gear body Untersetzungsgetriebenkorper Corps reducteur
11 11.320.004 "1 1B-3|ingrassature Stauff Stauff Greaser Stauff Schmiernippel Lubnficateur Stauff
12 11.390.009 .I.m_. B-2 Cuscinelte 6202 2RS . Beanngs 5202 2RS Lager 6202 2RS Palier 6202 2RS
13 [1.106.952 ' 6 |[B-2|Spessori 15x22x0,5 |Shim 15x22x0,3 Zwischenlegscheibe 15:22x0,5 Etalon |5x22x0,5
14 [1.105.123 6 |B-1lDadoM6 i Nut M6 Mutter M5 B Ecrous M5
15 11.105.467 3 B-2iChiavetta 5x5x20 _mu&xmo Key Keil 5x5x20 €18 5x5x20
16 |2.250.074 1 _ —w-N::EE_SnwE derti diritti duutiore | Reductor'straight loothed pear '| Getriebesaufrechteszahnrad Engrenage dents droits réducteur
417 12.250.075 '1 '{B-2]lgranaggio denti diritti +licoidaki TEEE.&&FQ&E toothed gear Aufrechttschraubenflichigeszahnrad m=m-n=mmn dents droits+helicoldaux
18 |2.250.076 1 | B-2|ingranaggio denti elicoidali+elicoidali j Helicoidal+helicoidal tvothed gear _ [Schraubenfl +schraubenfl.zahnrad Engrenage dents helicold +helicold
19 |2.100.024 1 .m:-M Albero dentato rduttere TEX TEK reductor's toothed shaft TEK Getricbeszahnswelle Arbre denté réducteur TEK
20 |1.105.510 6 [C-3]vite TCCE 6:x35 Screw 6x35 Schraube 6x35 Vis 6335
21 [1.105.605 | 1 [B-3|Spina5x.6 3xio cleatic catch 5x16 Elastisch Haltung Arrét elastique 5x16
22 12.110.038 K B-1|Guida regolazione spazzola central:  |Main broom adjusting rail Zentralbesens Einstellungshahn Guide réglage brosse centrale
23 {1.105.307 1 1B-1|Rondella 15x28 Washer 15X28 Scheibe 15X28 Rondelle 15%28
24 |2.120.206 1 |C-3|Coclea Air conveyer Schnecke Canalisateur d'air |
25 12.100.022 1 B-3|Albero farfalia coclea Air conveyer butterflay ' shaft Drosselschnekesfeder Arbre papillon du canalisateur d'ai
26 12.120.208 1 | B-3|Manopola per farfatia Handle for butterfly Drosselklappehandgnff Poignée pour papillon
27 12.120.207 1 B-3|Valvola farfalla NYLON Butterfly valve nylon Nylon Drosselklappe Soupape papillon en Nylon
28 |2.290.009 1 1€-3)Vite arresto farfalla Butterfly stopping screw Drosselklappes Haltungsschraube | Vis arrét papillon .
29 12.110.024 1 _ 1C-3|Roccola @40 x 30 Bushing £ 40x30 Buchse @ 40x30 Douille @ 40x30 .
30 |1.290.009 1 | C4|Ventola plastica Plastic fan Plastikfligelrad Ventilateur en plastique
31 §1.105.134 m.... D-4|Dado bloccante M & ILocknut Mg Selbstsperrmutter M8 Ecrou autobloquant M3
" 47 |[2.155.003 1 C-4|Giunto completu _._..EER_ HONDA HONDA motor compleic joint | HONDA motor voll gelenk 1Jaint complete moteur HONDA
. 2.155.030 m 1} ﬁ.m O_EE... completo motore ELETTRICC ELECTRIC motor complete joint ELEKTRISCH motor vall geleak _.—\owmﬂ mmiv_ﬂn moteur mrmﬁﬂaﬂdm
33 [1.105.502 2 |C-4|Vie TSCE 6x16 Screw 6x16 ___ ISchraube 6x16 1Vis 6x16
34 [1.105.467 1 | C-4|Chiavetia 5X5X20 5x5x20 Key Keil 5x5x20 [cie sxsx20
| 35 {1.340.009 1| D-5]Motore HIONDA HONDA motor HONDA motor {Moteur HONDA
_ 1.340.017 1| A-5|Motore clettrica FELECTRIC motor ___ |ELECTRIC motor Moteur ELECTRIQUE
 [1.370.005 4 qﬁma_zsclaxuo MEx16 ( Ver. Honda)! >=a.<=uamo=u 30x20 M8x16 __ |Schwingungdampfer 30:x20 gmx_mu Antivibrations 30220 M&x16
36 11.370.002 4 | B-5iAntivibr30x20 M8x25 { Ver Flettricd Antivibrations 30x20 M8x2? _|Schwingungdampfer 30x20 M8x25 |Antivibrations 30x20 M8x25%

NS AN T

Late of T~

€

N N7y !




AIXG $IA 2 G Moy AL FUA P e Sv¢ HUE b
L1Xg 2jjepuoy £1XQ ST LIXg HPPUOIGYY ¥ FOE'SDLL
§ i §T0I3 8 B swopedig-g| ¥ Fzlsol
G (om0 IRy umwmm § XHACY ¢l g3 oumiss wdoag| 3] € 0¥ 500k
wose1] el np afenbo)g op apug ) gasusysiunian H mzzEuWQ [ata: ;o] aosma g 2UHTRIS0[ 1P BIRuEL -0 L PIOOGLE
EgET 2 aine) £TOT 7 uataly oAl 2 e IR Ardatttivibals! L oo aget
BOHIEL SN0 ACHYDEUOENLIENS Asjired uenjoery UGB BTG (] i T li R A
£0T Tdes voddng €0T 134018 Asapny £07 Lides Hoddng T LS oueddngiz-g Z Li0oseTL
(1X0 uxmﬁ ED] mu,._g:x FH{Re o) £ N Uk Y ,wux.....w ¢ wm¢,m¢ LE
00, AL HoRoen aiqiy 004 2L Afranqaiey G0 LS oAl (34 3 PUCITRN QIAGR | Z- I A H I
1S 2[D SIHEN 123 AN G INENC CT¥CKEENAATN E-TFY 18y°501°4
71%g 2PpUoy TIXG 3qLEIE TEeERpuO| -] EOCGOL L LY
9Ixg SIA G4 ayRRIIY GrEeOIL AP b ZZZ'S0L1 9Y
CONGEE ¢ 210y CCX ST O PRY vusiol momy -4 | E PLODSTE SY
meuﬁ&m Tiv] M dseg 711 N nEepepay HIH AT é.m E.Hummumgu G- FA GLO°06e L ¥F
DjEnOIE ay[Inog] TR TERYSsYg z £E0°0LLZ) TF |
SRER[NOI B OTP | TIH 1B GEel T3H 2Eepepay G wpol 97l L A R e 1 4 SLO'0BE b 2¥
W7 () DUIOIXD 12408, ondEy 07 {3 1AB0SIDEENY az . 7y eun ¥ 2L S0L Ll IF
YIXG AREpUeY FIH9 2oy PTYO JRYNEM PTHG BRRPUCH| G4 ¥ SZE'SOL L OF
OTXE StA CIXG sqnEns 91X Mazy CREGADHLMAIG- 4] € vEZTSOL L 68
007 ¢ 28N0F 3001 2LATO] (07 (3 Pyoappey 10y 007 (3 12400 s as Py oESY op7 oF By Lo | z RO GELE
ooz & mtm SN0 S1sN0TY 0T 1 ]2420Dp8y NBIG A7 O 19A03 5[99y ADiy ARy BT ¢ Blon mﬂma\ H Lt | 4 6L Q2L dy BE
007 @ SYRUTJ] ANAL 218007 00T € [24o2pPEY S50 DOT €3 19400 513004 I oxuwgl 407 ¢ moriudos e 41 F G80°0Z12
QUT @ uaf] snal S1anos GOY @ 1PYseppwy NElY 3 9 3AUD 5ja00M anjg OUNEZY ()T ¢} FIOMLED]) 4~ 4 AR A XA
ANONLLYY 1] dnoww poddag DRLLATTE Aursaysysololy ORI T voddns soioy] 00 M voMNaR asow cusddng G| | 050'092°2
WOIROH Hsiow poddng VEIMOH urimppionjy VIO podedng soiofy V(iROH 20w opeddnglg-g L TLOO6LE IE




. S n
\ B~

g

CONTHOU

SYSTES
o

TR R
N

. \;,/

HATTE

1/TKT0OE

2/TK7C0E

™3

O
ae

AT
2 !TK?OGS

5
i

TK700S VERSION

37 96

TA:

LA




(96/50 >y nEl 13004

FL3JJEY IN2UAUL) 13y[gYoquallaliEg 12UIU03 A2alEY wuopeqeuod sionumuog|g-4 I | szvozirz| i
dey addepznuitog deiy deidli-d| | 110°091°Z] 9t
de suudy Jefeuaddepy 10xg dejg deg ouaifz-4]| | 9Z0'0§1°2| §v
NOYNOET loung Jagqny euwon|g-4| | 920'09L°2] ¥t
ANOYINOBI-S] LY Izjjeqrurunn 19%0 1aqqnyg swwof outs | F-4 1 1Z0°0SL° 2| vy
YA nolog YN 3N PN NN yopeglz-d| 1 121’501 )} eC

QT1XP SIA 91Xy eqnesyog OTX MIIOF gixy AL WA|L-d| b Z00'SOL' L]
S'6XS L SIA $6S 't aquenyag §GHS g malag s'exs'c 0L 13omne auA|Z-3 | 9} 95E°S0k" L1 u
N1 2w deyg 31, addeuauu] .1 dep soun] N1 ores) owut delj| 2-3 r4 §50°091°2) 62
00£L1L/00S7LY, dnroap [eagte] deld|  00LNI/O0N] addepjuanassiyoay 00£ML/00SL dug apis BRI 00LML/00STLL onsap dessiv) deli[Z-3 ) 9E€0°09L'Z) u
Q0L AL s19ure delg 00L 1 sddeppaquiy 00 A1 dey aprsdoeg] 00L XL 2oussod depyle-g| | Z90°091 2l Lo
91%Q1 S'A 91XQ1 2qnesysg QIXQT M35 o1 ADALMA|E-T] T CETSOL'L| 97
29[NJIe aueg TRqQyuI) Jeq pajenonay ejepous ezZey{ §-3 1 200'50Z2°2t 7
9| @ 2wl ;uR p ondeg 9] () 128a9susuu} g1 @ Juu deus 1ouu] 91 @ owajur 128335 P~ } Z02°s0L° Ll ¥2
. uolnop uszjoqsjdoNEaEny ugd enjs voundig-g| 1 8L0'0£2°Z] €7
90T JO wiof ~ BunggoIq 901 40 194580 901 JO 901 o suorziurenn e~ | 6¥0°'091°}y oo
a1}|1] JULILINOIIS NOS5TY I3pajsIafnu)Lg Juuds JaxeysIalL] onyynenss suoissaldutos ejo |- 1 90Q's02'¢| i<
8 AL noiy 81N Jounpy 2L NN i opegie-al | 1ZZ°S0L° 1) v
00L L snbrios) uonu[msu] 00L ML 2Fe|ry ayasunjajy 00L M1, vonefmsul otnoafy 004 I vounss opredwpe-gq | | 210081 L] &1
004 2.1 3117 sinof iy 004 AL uaBunyaipiaig 00L ML 1y s19%s5e8 19111 00£ 2L onj 3ad sssnow I~ | L80°09LZ1 u»
00L A1 5uit] 00L AL 19114 00L AL 1A ooLMiondiv+-al ) £00°09€°Z} L!
S1YJ UOTEXY Jalny Jol[tg 7 193093%CH 1939®1q By 1511 onyy oddessy eguiS|ea| | 120°092°Z 91
STHE SIA ST sgnesryag CTXg MaIDE cxg AL MA[G-A| € $96°S0L' 1) 45)
& Suwwia]y duiz]) muep[z-a| 1 6£0°08L L] ¥
IN3IBIP|299% 3D UOISSIISEI] asyonqpeI[23o)] UOISSIWSUER FUALp JOJBIa[RI9Y|  AI0jEIf[R00E opuEWes sucisstusel] | -0 | | A TAWARY
21| JUIWINDI2S 2JPG Sungnisia|uousyL] el s 19BYs1o1] M1 onjynonss epinn | g-(] } cQoG9l'Z) .
2131 2P JUSWLNO03s 1a[dwod 191} |3qaysIsnuIs (oA 1aaal s I EYsIY aapdwon) we)dizes 3 1, oanpyuonss zarlle- b SOLOLEZI LI
STHO SIA TN AquBIqag CTHG malog cTx9 d0SLwAlE-A l $05°50L L1 v
9 W 1wenbojq nosay 9 W Jsunw doolg ¢ W mujeo[g g W swexaq oprgly-o) £ EEV'SOLL]

0T*E S1A QTXg aqnuiyog OTXE Maldg ozxs QLIS WA l-8| ¢ £9eG0L’L

09 SIA 01Xg 3qnelyos 01%9 Ma10g 0IX9F0EL WA |G| T yee'S0L'L

mduigpp L I9)|BYIS WIS, YoUMmE ojoutay] AT1 901 L onnp) -] 1 b£0'09E ¢

2LI2)]Bq 2p JneBITYT) IN2j22UL0.) JPPUIIANSIOPR[J Y TR lojaauuod Jafloy)y 1eg T2 EY BB 3lasuLo] |- Z e0n'08e’L

TIXESIA T1XG sqnultjag TIXE Mg TIXCHITL WA L-D] Z £20°'s0L°}

gL UOINOG 2]GBD 12qexsjdouyarupsIuniey 9|qua s,uojing doyg o1s21s uesind Jod oaeglz-9| ) 200°081°1
710 v mnodnusiug 13)|BUYIS[RNY2S youms A7y oiddoas Jod aariy e otopuuduiz-g| | ZooLose L

310 v Jnaxdntayy| BEYoS[RgNYIS yanms Ay pouyas Jod aaend e olonnuaulip-gl L 1001 08e’t
4 00L X1 poq sp nesjqel anbe| g PlYdssAIquaImMEBLLLY o (0L AL apepd s,pimogysep J 00L M1 4 00L ] onovsno ey |G-y | L 00°L16'9) )

$ Q0L ML pioq 9p neajquy anbeig PRYDSSH2IqUaIMTUy § 0L AL aje|d sprroaquysep § Q0L R § 002 AL oworsna euaang -y | L0169




6.900.7501

TAVOLA T 1K 700E=S|

.CC.

tDATA: 07 96




(86 / 20 "SI3A )

uolWeld 1S - 13004 M1

213[d o 29|NoTHE 218y

TgqQuaan) ‘[ieA pos paqutof saymysanpy ajapdwon) Epo[dwos on|JHonIs Llepous TIZe 901 01IE"T
004 LA Ap nolysnossy iy vaddepiIalL] 0oL ML i sdeg aapd goL ML ooz MLonmdeg 1mi}  £80°091°TE
00L 21, S1SSEY3 np anoyxnoery wy veddepjuawyey 0oL §1 13 sdujy awey) 9oL AL 00¢ 31 oeprdeg L] TZITOTE'T

Q0L ML uat 3Tq np 2n0Ys|nce])

10y vaddeppoFerniopiop 00L .

Wy sduf] 19muIp 001 00L N,

00 .1 2seunue onassea dey 1y

SETOLETL

19]dutos Yoddng aBegny m_u.._uun:ob. - voddns a1ajduzory majdwo? oyauidsns opoddng LITQIET
a19dwos syaned anoy PEY 9SUT] JOA 1saym ya| aaidwiog mi2|dwos eysnng wond| NOOT'01E°T
213]dwod S110Ip N0y Py 9122y HOA 129y w31 9jejduwicy) eapdwos vasH wlony NG66O01EL

3131dwos juamascwl 3p andeg

BuusFunFamag Jjop Hult yuawasour 2)2jdwoe) olajdwor cyustiowt ojlauy|  €00°SIET
27|dwod dpa 2)uap anBeg Juunyez 159) ‘|jog Buus yroo) a(pt sa(dwosy oga|duwres o)jof oleup oj)3uy|  ROO'STE'T
0L 1dd 2191dwo? 2jraze] sssoig 0L “1dd Uas3quaiag "HoA 0L “1dd yswiq apis sjojdiar 0L Tebd miadwoo afesaie| eozzedg]  LZT'0IET
219[d1w02 95501G-343] IlAS] [9qoYSEagauasag oA Ioaa] Bunpip-ysniq aajdwony wjajdwos afeaie] vjozzedsezje may]  RLOSTIL

13 00L 341 Awidwos ssuio] JuBpueH 1 00L AL TA sjpusy p|dwod 18 004 AL opdwos 1§ (0L ML OWeN|  967°01E
13 004 A1 weydiod sauFfiog [udpusy 19 0OL ML JloA ajpury 2pe[dwon 13 goL WL ojp[dwos 17 004 AL oouel|  SGTOIET
004 ML 13[diwes sun jusae sy JRUMZINLIYDSISIUTE] NI 0OL ML TIA]  I°mEp Xoeq ARun) 3191dwony oo ML 01310 o1dwod s10u31s0d onassen| DEE0°00ET

004 31 191dwod 28noy unaw J8g 19BgIpoplosIapiog 10y 00L ML HOA JoMBIP U] pay] Mdinon) oo NI oss0y] 0jo]dwon atousjue onassey| YTE0°00£°L :

00¢ N1 Wdwos najq yuvav seg

RINYeqANWYASIapIoA nal] 00L AL TIOA

JIMBIP U0 onjf MHduoneL ML

nigl m9jdwod arouajte elEsE)

LIT00€T

004 ML Ipidwon ayydus|g jusae dag

SRI|TYRATRWYIEIIPIOA S 0L L TIOA

Jomuip juod] aiym uﬁO_QEDU 00L N1

vaung] 0ja]dwed PICUIIUE CI1eSSE)

PLI00LT




